
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  eLg;Gs;spj; Njw;wj;jpw;Nfw;g 

                     ED = ½BC 

      / ED = 6cm=½BC 

                     BC= 2x6cm 

                     BC  =12cm 

 
eLg;Gs;spj; Njw;wk; 

jug;gl;Ls;s Kd;Nfhzp ABC ,y;> gf;fk; AB ,d; eLg;Gs;sp P> vdTk; gf;fk; AC ,d; eLg;Gs;sp 

Q vdTk; nfhs;sg;gbd;>  

              Njw;wk;:  xU Kf;Nfhzpapd; ,U gf;fq;fspd; eLg;Gs;spfis njhLf;Fk; NghJ   
                      fpilf;Fk; Nfhl;Lj;Jz;lk; Kd;Nfhzpapd; %d;whtJ gf;fj;jpw;F      
                       rkhe;jukhfTk; mjd; ePsj;jpd; miuthrpahfTk; ,Uf;Fk;. 

                  mjhtJ cU (i) ,y; AP=PB,    AQ=QC 

                                                  AP=PB=½ AB,     AQ=QC=½ AC 

                  / Njw;wj;jpw;Nfw;g         PQ        BC   

                                                   PQ=½ BC  

 

X ,d; ngWkhdk; fhz;f. 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 4 

       

 

 

 

 

 

 

 

 

 

 

                        PQ = ½LM 

                        2X – 1 = ½ X 42 

                        2X – 1 = 21 

                   / 2X = 21+1 

                         2X = 22cm 
                         X = 11cm 



tpdh:  

Kf;Nfhzp ABC apy; AB=8cm,  BC=10cm, Rw;wsT= 24cm vdpd; ehw;gf;fy; PQCA ,d; Rw;wsitf; 
fhz;f.  

,q;F BP = PA=4cm, 

             BQ = QC = …………… 
     eLg;Gs;spj; Njw;wj;jpw;Nfw;g 

            PQ=½ AC 

     Kf;Nfhzpapd; Rw;wsT  24cm = AB + BC + AC 
                                                                AC = 24 – (10 + 8) 
                                                                 AC = 24 – 18 = ……… 
                       / PQ =………… 
/ ehw;gf;fy; PQCA ,d; Rw;wsT = PQ + QC + AC+AP 
                                                                    = ……….. + ……………. + ………………+…………… 
                                                                       ……………cm 

 


